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Cnegyouyuli Bonpoc kacaeTcAa ganHHozo koga:

void add (int k, float =a, float =b)

i

for (int 1 = 1; i <« 166EE; i++)

alil = ali+k]l + blil;

1

KomnunaTop Intel® BuBoguT chnegywuue pezynbTaTel guazHocTuku,
koTopne cBugeTenbcTBuwT 0 TOM, 470 kog He abBnAeTcw
napannenbHbIM ;

add. cpp

procedure: add

serial loop: line 2

anti data dependence assumed from lime 2 to line 2, due to

e
flow data dependence assumed from line 2 to line 2, due to
a

flow data dependence assumed from lime 2 to line 2, due to
a

Ognako ecnu nepeMeHHans ___ B npouecce BwnonHeHud

UMeeT 3IHAYeHUe _______, yukn BygeT napannenbHuM. (3anonHuTe

npobenw )

 alil, = blil

Lk, =B
Kk, =8
€k, =i

OTtBeT 3. MNMpun k=0 ntepauunm HezaBucuMbl — kvm 2007/09/28 00:24
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